@nil(san mMoToR C €
© )

CP Ex SERISi POMPA KULLANIM KILAVUZU TR

CP Ex SERIES PUMPS OPERATING MANUAL EN

(19.06.2023)rev1/ 16 sayfa
(19.06.2023)rev1/ 16 page



Supplement Nr: 03

1) EU-Type Examination Certificate

(2) Equipment or Protective Systems Intended for use in Potentially Explosive Atmospheres
Directive 2014/34/EU

(3) EU — Type Examination Certificate Number: IEP 11 ATEX 018X

(4) Product: CP Ex xx Transfer Pumps Series

(5) Firm Name: MIKSAN MOTOR SANAYI VE TICARET A.S.

(6) Firm Address: BOSB Bakir ve Piring Sanayicileri Sitesi Menekse Cad. No:1
Beylikdiizii — Biiyiikcekmece Istanbul-TURKEY

(7) This product any of acceptable variation thereto is specified in the schedule to this certificate and the
documents therein referred to.

(8) The IEP Uluslararas: Enerji Petrol Gozetim, Sertifikasyon veTeknik Hizmetler Organizasyonu Tic. Ltd. Sti.,
notified body number 2284 in accordance with Article 17 of the Directive 2014/34/EU of European Parliament
and of the Council, dated 26 February 2014, certifies that this product has been found to comply with the
Essential Health and Safety Requirements relating to the design and construction of products intended for use in
potentially explosive atmospheres, given in Annex Il to the Directive. The examination and test results are
recorded in confidential Report Nr: IEP.Rp.Ex,10-321-3 date 26,09.2023.

(9) Compliance with Essential Health and safety requirements has been assured by compliance with;
EN IEC 60079-0:2018, EN 1SO 80079-36:2016, EN ISO 80079-37:2016

(10) If the sign “ X “ is placed after the certificate number, it indicates that the product is subject to Specified
Conditions of Safe Use specified in the schedule to this certificate.

(11) This EU-Type Examination Certificate relates only to the design and construction of the specified product
in accordance to the directive 2014/34/EU. Further requirements of the directive apply to the manufacturing
process and supply of this product. These are not covered by this certificate.

(12) The marking of the equipment or protective system shall include the following:

112G ExdbIICT4 Ga
1% G Ex h IIB T4 Ga/Gb

/Sfipplement 03 Date of issue : 06.10.2023
-

Responsible Person :
Nurettin Terzioglu
Head of Certification Body

IEP Uluslararasi Enerji Petrol Goz., Sertifikasyon ve Teknik Hiz. Org. Tic. Ltd. Sti.
5746/1 Sok. No:9 K:2Bornova - [ZMIR / TURKEY
Tel: +90 232 431 17 4546 Fax : +90 232 431 17 30 E-mail: iep@iep.com.tr Fr: 45
This certificate is granted subject to the general conditions of the IEP Energy Petroleum
Institute. This certificate may only be reproduced in its entirety and without any change,
schedule included. You can check accuracy of this document by www.iep.com.tr.

Page|1/3


http://www.miksanmotor.com/
mailto:info@miksanmotor.com

@iksan MOTOR

CP Ex SERIiSi POMPA KULLANIM KILAVUZU
1. GENEL TANIM
CP Ex Serisi pompalar, matbaa sektériinde, baski makinelerinde, kaplama proses-
lerinde, yikama proseslerinde vs. su bazl boya, vernik, mirekkep ve cesitli ¢oziicile-

rin pompalanmasinda ve sirkiilasyonunda kullanilirlar.

2. BOYUTLAR VE ETiKET DEGERLERi

Dalma Agirhk | Gu¢ Gerilim Frekans Akim  Devir
Derinligi | a | b | c
TiP h (mm) mm kg kW v(AvY) Hz A d/d
CP Ex 12 130 138290 | 147 | 13.0 0.37 230/400 50 1.9/1.1 2915
CPEx17( 180 133 265/460 60  1.9/1.1 3460
CP Ex 22 230 13.5
CP Ex 27 280 13.9 0.37M 230 50 2.8 2790
CP Ex 35 350 14.5
. .. . (D a
3. TEKNIK OZELLIKLER
Motor 112G Exdb Il C T4 Gb TN vaoas
Ara gévde Aliminyum T a
Pompa govdesi GG 20 ° °
Cark Piring L °
Mil AlSI 316L I
Pompa I12GExdb IIC T4 Ga 730
11 %G Ex h IIB T4 Ga/Gb a i
o~
<
4. CALISMA SARTLARI P 7%
Akiskanin kinematik viskozitesi; 1 - 90 mm?/s (cSt) <
Ortam sicakligi; -20 - 40 °C iﬁg@%ﬂf
Akiskan sicakhigi; 5 - 60 °C
115
Daha yiiksek viskozite ve sicaklik degerleri igin bizimle .

temasa geginiz. Sekil 1: Pompa boyutlari



@iil(san MOTOR

5. MONTAJ

Pompa, depo uzerine dikey olarak Sekil

2’'deki gibi yerlestirilir. Pompanin tank taba-
nindan en az 25 mm yukarida olmasi, tabana
degmemesi, tank icerisindeki sivi seviyesinin
ise en az alt pervane tamamen siviya dalmis
olacak kadar, en fazla ise Ustteki savurma las-

4 U

tigi seviyesine kadar olmasi gerekmektedir.

L I:
At i A
CP Ex pompalarin cikisi G % olup, istenilen . ml“/ e

debi, pompa c¢ikisinda tesisata takilacak bir \‘ / :

vana ile kisilarak ayarlanabilir. L

Hazne igerisine sivi seviye sensori bag-
lanarak, icerisindeki sivi seviyesi belirtile-
nin altina indiginde motorun durdurul-

min. 25 mm.

max. akiskan yiksekligi

masi saglanmalidir. Sekil 2: Pompa montaji
ONE 1
SN MOTOR
EN
oo 4
POMPA
DEPO

PSKK KA

Ko m

[ <l

Z 1] Z 1 Z 2 . . . .
one one one Sekil 3: Risk bélgeleri

4



@nil(san MOTOR

6. ELEKTRIKSEL BAGLANTILAR

- CP Ex XX pompalarin elektrik baglantisinda kullanilacak kablolar 4 x 0,50 (damar
sayisi x tek bir damar iletken kesiti) kesitinde olup, EN 60079-14 ve HD 21.13 S1’e
veya EN 60079-14 ve HD 22.4 S3’e uygun olmalidir. Kablo dis ¢capi 13-18 mm arali-
ginda olmalidir. Kullanilacak rakor ATEX direktiflerine uygun olmali ve M 25 x 1,5 dis

Olgulerine sahip olmalidir.

u

Sekil 4: a) Uggen ve Yildiz baglanti semalari, b) 230 V gerilim icin Uggen baglanti
ornegi, c) 400 V gerilim icin Yildiz baglanti 6rnegi.

Isletme Topraklamasi

~.Koruma Topraklamasi

-

Sekil 5: Topraklama baglantisi.



@niksan MOTOR

- Elektrik baglantisi gerekli teknik bilgiye sahip kisiler tarafindan yapilmalidir.

- Besleme voltaji ile frekans degerinin ve besleme kablosunun pompa etiketi tze-
rinde belirtilen degerlere uygun oldugunu kontrol ediniz.

- Uygulanacak besleme voltajina uygun baglanti sekli terminal kutusunda yapilmis
olmalidir (Sekil 4-a).

- Enerji verilmeden 6nce gerekli tim elektriksel koruma dnlemleri alinmis olmal-
dir (sigorta, termik salter vb.).

- Topraklama baglantisi Sekil 5’te goriildugu gibi yapilmalidir.

7. CALISTIRMA

1. Pompa, depo lzerine yerlestirildikten sonra tesisata baglantisi yapilir.
2. Elektrik baglantisi Sekil 4’e gére yapilir.
3. Mekanik ve elektriksel baglantilar tamamlandiktan sonra enerji verilir ve

motor sogutma tasindan fanin donis yéninin saat yoninde oldugu kontrol
edilir. D6nls yoni farkliysa 2 fazin yeri degistirilerek donilis yonu ayarlanir.

4. Tesisat lizerindeki bir vanadan kisma yapilarak pompa debisi istenilen sevi-
yeye ayarlanir.

A Pompa depo Uzerine yerlestiriimeden ve tim baglantilari tamamlanmadan
6nce motora enerji vermeyiniz!

A Pompayi ¢ark tamamen sivi icerisinde olmadan ¢alistirmayiniz!



@iksan MOTOR

8. ARIZA VE BAKIM

Pompa uzun siire kullanilmayacaksa sivi
icerisinde birakilmamali, uzun siire galismayan
pompa devreye alinmadan 6nce pompa mili-
nin rahat dondigu kontrol edilmelidir.

CP Ex serisi pompalarin motoru yandaki
sekilde gorildiigl gibi pompadan sokulerek,
elektrik baglantisi sékiilmeden pompa tarafi-
nin temizligi rahatga yapilabilir.

Pompada olusabilecek arizalar ile bunlarin
nedenleri ve ¢oziimleri asagidaki tabloda be-
lirtilmistir.

Servis ve yedek parga istekleriniz igin bize
ulasiniz.

Sekil 6: Motorun ayrilmasi.

Ariza Nedeni Cozumii
. . Elektrik baglantilarini kontrol
Motor galismiyor Elektrik baglantisi sorunlu L &
ediniz.
Disuk sivi seviyesi Tanka sivi ekleyiniz.

Pompa veya sistem borulari

Sistemi temizleyiniz.
Pompa siviyi basmiyor [tikali Istemi temizieyiniz

Pompada mekanik problem var |Servis yardimi aliniz.

Debi ve basing cok dii- [Pompa ters yéne donlyor iki fazin yerini degistiriniz.
suk Pompada kismi ttkanma var Tikanma bolgesini temizleyiniz.
Guriltd cok fazla Rulman arizah Servis yardimi aliniz.

Pompa iginde fazla stirtinme  [Pompayi derhal durdurunuz ve

Glg tuketimi ¢ok fazla .
var servis yardimi aliniz.




@iil(san MOTOR

9. PARCA LISTESi

1. Motor tasima kulp seti
2. Motor
3. Civata M8 DIN 912
4. Rondela M8 DIN 125
5. Somun M8 DIN 934
6. Kaplin dislisi (motor mili)
7. Kaplin kovani
8. Kaplin dislisi (pompa mili)
9. Kama 5x5x20mm
10. Kege 25x35x5
11. Rulman 6205 DIN 625
12.  Yataklama govdesi

| 13. Imbus M5x25 DIN 912
14. Rondela M5 DIN 125
15. O-ring 97x2mm
16.  Rulman 6003 DIN 625

17. Kege 17x25x4

18.  Susavurma lastigi
19. Kege 17x25x4

20.  Susavurma ylizugu
21.  Setskur 5x5mm

22. Pompa Mili

23. Pompa govdesi

24.  Susavurma yizagi
25.  Setskur 5x5mm

26.  Karbon yatak

27.  Segman
28.  Cark
29. Salyangoz
73 30. Rondela M5 DIN 125
- 7L 31. Civata M5 DIN 912

Sekil 7: Pompa kesit resmi.



@niksan MOTOR

CP Ex SERIES PUMPS OPERATING MANUAL
1. INTRODUCTION
CP Ex Series pumps are available for pump and circulation to water based paints,
varnish, ink or some solvents on printing machines, plating process, washing process

etc.

2. DIMENSIONS AND NOMINAL VALUES

Immersion Weight|Power Voltage Frequency Current Speed
Depth a | b | C

TYPE h (mm) mm kg kW V(oY) Hz A d/d
CPEx12 130 138 (290 | 147 | 13.0 | 0.37 230/400 50 1.9/1.1 2915
CPEx17) 180 133 265/460 60  1.9/1.1 3460
CP Ex 22 230 13.5
CP Ex 27 280 13.9 0.37M 230 50 2.8 2790
CP Ex 35 350 14.5
3. TECHNICAL FEATURES ®a

Motor 112G Ex db Il C T4 Gb 4k

Bearing house  Aluminium M20xL5

Pump body GG 20

Impeller Brass

Shaft AlSI 316L

Pump 112G Exdb IICT4 Ga

I1 %G Ex h 1IB T4 Ga/Gb

4. WORKING CONDITIONS

Kinematic viscosity; 1 - 90 mm?/s (cSt) <

Ambient temperature range; -20 - 40 °C |

Fluid temperature; 5 - 60 °C 28
115

130

Please contact us for higher viscosity and tempera-

ture. Figure 1: Pump dimensions



5. INSTALLATION

The pump vertically fix on the tank as
Figure 2. The pump bottom must be at least
25 mm from the tank bottom, min. liquid
level must be over than the impeller and
max. liquid level must be under than the
ring.

CP Ex series pumps, connect to pipe
system with G % threaded pipe.

Pump has to be stopped when the
liquid level inside the tank drops below
the impeller level by connecting a level
sensor.

min. 256 mm.

min. Fluid Level

max. Fluid Level

Figure 2: Pump installation

ONE 1

of MOTOR

PUMP

TANK

Zone 0 Zone 1 Zone 2

10

w W% Figure 3: ATEX Zones




6. ELECTRICAL CONNECTION

- The cable must be has 4 x 0,50 (streak number x the section of 1 conductive streak)
section dimension and designed according to EN 60079-14 and HD 21.13 S1 or EN
60079-14 and HD 22.4 S3. The power cable outside diameter must be between 13-18
mm. The cable gland must be suitable for ATEX norms and must has M 25 x 1,5 dimen-
sions.

Figure 4: a) Star and delta connection diagrams, b) Delta connection sample for
230V, c) Star connection sample for 400 V.

Isletme Topraklamasi

\\\K\orum a Topraklamasi
\ﬂ

Figure 5: Grounding connection.

11



@niksan MOTOR

- Electrical connection should be made by person who has the technical
knowledge required.

- Check to supply voltage, frequency value and the supply cable indicated on the
motor label.

- Electrical connection in the terminal box must be made according to supply
voltage (Figure 4-a).

- Before turn on, electrical protection for all the necessary precautions should be
taken (safety fuse, thermic switch etc.).

- The ground connection must be made as shown in Figure 5.

7. OPERATION

1. The pump connected to pipe system after it fix on the tank.

2. The electric feed cable connected to pump as Figure 4.

3. After finish the mechanic and electric installations, turn on the power supply
and check the turning direction (True direction is clockwise).

4. Volumetric delivery rate can adjust from a basic valve on the pipe system.

A Do not turn on the power before finish installation completely!

A Do not run dry!

12



8. FAULT AND MAINTENANCE

If the pump is not used for a long time,
should not be left in the liquid. Before opera-
tion, should be check the easily turning of

pump shaft by hand.

The pump side can be easily cleaned by
removing the motor from the pump and it not
necessary to remove electric supply connec-

tion.

There are possible faults and the reasons
of them on the following table.

Please contact us for maintenance.

@iksan MOTOR

Figure 6: Removing electric

motor.

Fault

Reason

Solve

Motor doesn’t start.

Electrical connection prob-
lem.

Check to electrical supply
connection.

Pump doesn’t pumping the
fluid.

Low liquid level.

Add some liquid to tank.

Pump or process pipes
clogged.

Clean the pump and pipe-
lines.

There is a mechanic prob-
lem.

Contact to us.

Low volumetric delivery and
delivery head.

Pump turns counter-
clockwise.

Change the location of
the two supply cables.

There is a partial clogged in
the pump.

Clean to clogged zone.

There are too much noise.

Bearing fault.

Contact to us

There are too much power
consumption.

There are too much friction
in the pump.

Stop the pump and con-
tact to us.

13




@iil(san MOTOR

ok wNE

-]
T
s
|
1
3

B\ <030

Figure 7: Pump section view.

14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
77 26.
~73 27
— ik 28.
29.

4 — 7 3

9. PARTLIST

Transport handle
Motor

Bolt M8

Washer M8

Nut M8

Coupling gear
(motor shaft side)
Coupling case
Coupling gear
(pump shaft side)
Key 5x5x20mm
Seal 25x35x5
Bearing 6205
Bearing house
Hex socket head
screw M5x25
Washer M5
O-ring 97x2mm
Bearing 6003
Seal 17x25x4
Splash ring (plastic)
Seal 17x25x4
Splash ring (metal)
Set screw 5x5mm
Pump shaft
Pump body
Splash ring (metal)
Set screw 5x5mm
Bearing ring
Circlip

Impeller

Volute

Washer M5

Bolt M5

14

EN ISO 60079-6
EN ISO 4762
EN ISO 7089
EN ISO 4032

Aluminium
Polyamide

Aluminium

EN1SO 1132
EN ISO 4762
EN ISO 7089

EN ISO 1132

AlSI 316
Cast Iron

Carbon

EN ISO 7089
EN I1SO 4762



@iksan MOTOR

MiKSAN MOTOR SANAYi VE TiCARET A.S.

B.0.S.B. Bakir ve Piring Sanayicileri Sitesi Menekse Cad. No:1

Beylikdiizii — 34524-istanbul

TURKIYE

@S

EC Declaration of Conformity

We herewith declare that the design/construction of the products:
Electric immersion pumps type: CP Ex Series

Complies with the following regulations/standarts:
EU Low Voltage Directive 2014/35/EU
EU Directive 2014/30/EU Electromagnetic Compatibility

Directive 2006/42/EC on Machinery

With the following harmonized standarts:
EN 809:1998+A1:2009/AC:2010 ; EN 1SO 12100:2010 ; EN 60204-1:2018

IEC 61000-3-2:2018/AMD1:2020/1SH1:2021 ; IEC 61000-3-3:2013+AMD1:2017
+AMD2:2021 CSV ; IEC 61000-6-2:2016 RLV; IEC 61000-6-3:2020; IEC 60034-1:2022 RLV

Executive Director

. .

Istanbul Yiiksel MESUT ~~

06.10.2023 // L/
Vil

15



| -
3—
—
-
=
-
-
=
-
=
-
=
[ £
- 3

R

mMiKsan MOTOR

MiKSAN MOTOR SANAYi VE TICARET A.S.
B.0.S.B. BAKIR VE PiRINC SANAYi SITESi MENEKSE CADDESI NO:1
34524, BEYLIKDUZU - iSTANBUL / TURKIYE

TEL : +90 212 284 64 00 ( PBX) FAX:+90 212 279 55 67

www.miksanmotor.com info@miksanmotor.com



http://www.miksanmotor.com/
mailto:info@miksanmotor.com

